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FINANCIAL MANAGEMENT
AND
MANAGEMENT ACCOUNTANCY
PAPER—XVI
(Elective Honours)

Full Marks : 100

Time : 4 Hours

The figures in the right-hand margin indicate full marks.

« Candidates are required to give their answers in their
own words as far as practicable.

Hlustrate the answers wherever necessary.

Group—A

{ Financial Management)
[Marks : 495]

1. Answer any one question : 15x1

(a) (i) Explain the objectives of Financial Management.

(i) Distinguish between ‘“Profit maximisation’ and
o Wealth Maximisation’ of an organisation.
' 8+7
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(b)

(1)

(i

|9

What is Time Value of Money? State the
importance of Time Value of Money.

+

Discuss the merits and demerits of Lease
Financing. 3+5+4+43

(c) Firms X, Y and Z are engaged in diverse operations,
some of their particulars for the financial yvear 2013-
14 are given below :

Firms X Y Z
Rs. Rs. Rs.
Output [units} 8,000 20,000 12,000
Selling price per unit (Rs)) 10 20 2
Variable cost per unit (Rs.) 4 10 1,
Operating Fixed Cost p.a. (Rs.) 36,000 1,60,000 8,000
Fixed Financial Charges p.a. (Rs.) 10,000 20,000 NIL

You are required to make a comparative analysis of operating,

financial and total risk of the firms on the basis of leverages.

2. Answer

(a)

(i)
(ii)

15
any three questions : 8x3
Explain the term ‘Capital Structure’.

What do you mean by Simple and Complex
Capital Structure ? Give examples.
2+6
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(b) Discuss the benefits and limitations of Long-Term

(c)

(d)

Public Deposits. 8

ABC & Co. has 1,00,000 shares selling at Rs. 150 per
share. The company is thinking of paying dividend of
Rs. 12 per share at the end of the current year. The
company’s profits for the year are Rs. 20,00,000 and
it wishes to make new investments of Rs. 12,00,000.
The cost of capital is 15%.

Using Madigliani-Miller model, calculate :

(i) The market price per share at the end of the
current year

(a) if dividends are paid and
(b) if dividends are not paid.

(i) The number of share to be issued if dividends
are paid. (2+2)+4

Discuss the factors determine the dividend policy of
a company. 8

Distinguish between Lease and Hire-Purchase.,
8

P. Ltd. issues 1,00,000 equity shares of Rs. 10 each
at a price of Rs. 28 each. The floatation cost is
Rs. 3 each. The current dividend is Rs. 6 each and
th(? company expects a dividend growth rate of 6%,
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Compute the cost of equity share. What will be your
answer if the expected dividend in the next year is

Rs. 2.50 per share? 8 -
3. Answer any two questions : IXa
(a) ‘Finance is the life force of business’ — Discuss.
(b) Explain “Trading on Equity’ with an example.
(c) What is floatation cost?
(d} State the different Financial Institutions providing
Long-Term Finance to the industrial houses.
() Make difference between ‘explicit cost’ and “mplicit
cost’ of the cost of capital. #
=~
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Group—B

{ Management Accountancy)

[Marks : 45]

4. Answer any one guestion :

15x%x1

(a) Explain the functions of ‘Manégément Accounting’.
Also state the limitations of Management Accountings.

(b} Following are the summarised Balance Sheets of S Ltd.
as on 31st December, 2013 and 31st December 2014 :

Balance Sheets

Liabilities 2013 2014 Assets 2013 2014
Rs s Rs. " Rs.
Equity Share Freehold
Capital 1,20,000 | 1,50,000} Property {at cost} 66,000 48,000
Share Premium — 10,000 | Plant and -
Capital Reserve — | 34,000{ Machinery 41,600 1,20,600
(Profit on sale of Stock-in-Trade 60,700 65,700
Freehold Property} Debtors 40,200 49,500
Profit and ) Cash at Bank 18,500 33,600
Loss Afc 43,000 | 42,000]|Preliminary '
Trade Creditors . 54,400 65,600 Expenses 2,400 1,200
Proposed Dividend| 12,000 17,000
2,29.400 | 3,18,000 2,29,400 | 3,18,000

Nét profit of Rs. 16,400 is the amount after charging Rs.
15,000 for depreciation on Plant & Machinery and after
writing off preliminary expenses of Rs. 1,200 and Bad
Debts Rs. 1,500. No Plant and Machinery was sold during

2014.
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Prepare statements :

(i} Showing changes in Working Capital position,

F .
and
(i) Showing Sources and Applications of Fund
during the vear. 5+10
(¢} Briefly explain the merits and demerits of the .
following techniques of capital budgeting proposal :
{i} Pay Back Period;
(ii) Net Present Value and
(iii) Internal Rate of Return. 3+3+35
S. Answer any three questions : 8x3
{a) Discuss the objectives of Budgetary Control. g *
(b} From the folloxviﬁg details of Krishna Ltd., a
manufacturing company, estimate the amount of
working capital needed to finance an activity level
of 50%. The capacity of the concern is to produce
2,40,000 units p.a. :
Expected selling price Rs. 10 per unit
Cost of Raw Materials Rs. 3 per unit
Direct Labour Cost Rs. 2.50 per unit
Overhead at 50% activity level Rs. 2,50,000

(including depreciation Rs. 50,000}
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Raw materials are in stock on an average for one
month. Materials are in process on an average for
two months. Credit allowed to debtors is for three
months and credit received from suppliers of raw
materials is for one month. Lag in payment of wages
is half a month. Lag in payment of overhead is one
month. Cash in hand and at bank are 10% of net
working capital.

You may assume that production is carried on
evenly throughout the year and overheads accrue
similarly. One fourth of the output is sold against
cash.

(c) What do you mean by ‘Accounting Ratio’ ? State the
limitations of Accounting Ratio.

(d) Following information is available at 60% capacity

level :
Expenses At 60% capacity level
Rs.
Direct Material 1,80,000
Direct Labour ‘ 1,20,000
Indirect Material and spares 54,000
Depreciation 72,000
Indirect Labour 42,000
Rent ' 18,000
Electric Power (30% fixed) 16,000
Repairs and Maintenance 30,000
(40% wvariable)
Insurance on Machinery 12,000

Prepare a flexible budget at 70% and 90% capacity
level. ' 3
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{e] State the different concepts of working capital. 8

(fi From the following particulars prepare as summarised
Balance Sheet of Z Ltd. as at 31st December, 2014 :*

Fixed Assets to Net Worth 6-8 : 1
Current Ratio 3
Reserve included in Proprietors’ Fund _ 25%
Fixed Assets Rs. 8,00,000
Cash and Bank balances Rs. 15,000
Current liabilities Rs. 1,550,000
The company has no bank overdraft. 8
6. Answer any two questions : 3x2

(a) Write a note on Master Budget.
(b} What is the necessity of the sales budget ?

{c) Explain clearly any two points of difference between
‘Cash Book’ and ‘Cash Flow Statement’

(d) Name some tools and techniques of Management
Accounting.

(e} A project requires a machine costing Rs. 3,60,000
and it also requires Rs. 30,000 as working capital.
If an average profit of Rs. 42,000 is obtained from
the project, calculate the average rate of return of
it.

[ Internal Assessment — 10 Marks ]
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Firms X Y z

Rs. Rs. Rs.
Qutput (units) 8,000 20,000 12,000
Selling price ber unit (Rs.) 10 20 2
Variable cost per unit (Rs.) 4 10 1
Operating Fixed Cost p.a. (Rs.) 36,000 1,60,000 8,000
Fixed Financial Charges p.a.(Rs.) 10,000 20,000 NIL
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Balance Sheets
Liabilities 2013 2014 Assets 2013 2014
Rs Rs Rs. Rs.
Equity Share Freechold
Capital 1,20,000 | 1,50,000 Propertv (at costl] 66,000 48,000
Share Premium — 10.000 | Plant and
Capiral Reserve — 34,000 Machinery 41,600 |1,20,600
[Profit on sale of Stock-in-Trade 60,700 65,700
Freehoid Property] Debtors 40,200 49,500
Profit and Cash at Bank 18,300 33,600
Loss A/c 43.000 42,000 [ Preliminary
Trade Creditors 54,4000 65,600 Expenses 2,400 ; 1,200
Proposed Dividend| 12,000 17,000
2,259,400 | 3,18,000 2.29,400 [ 3,18,000

C/15/B.Com!/Part-1II(EH)/3T(N)/ 16

{Continued)



13

Plant and Machinery 9 5958 Rs. 15,000 #1¥ 333 9
&3¢ e 448 Rs. 1,200 8 $-4¢ Rs. 1,500 B SR
7917 719 Rs. 16,400 [ 1wt 9271211 2014 A (AT
Plant & Machinery T s =@ W

Prepare stafements :
(i) Showing changes in Working Capital position,
and
(ii Showing Sources and Applications of Fund

during the year. g+30
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Expected éel]ing price ' Rs. 10 per unit
Cost of Raw Materials Rs. 3 per unit &
Direct Labour Cost Rs. 2.50 per unit
Overhead at 50% activity level Rs. 2,50,000

(including depreciation Rs. S0,000)

Raw materials are in stock on an average for one
month. Materials are in process on an average for
two months. Credit allowed to debtors is for three
months and credit received from suppliers of raw
materials is for one month. Lag in payment of wages
is half a month. Lag in payment of overhead is one
month. Cash in hand and at bank are 10% of net
working capital.

You may assume that production is carried on
evenly throughout the vear and overheads accrue *
similarly. One fourth of the output is sold against

cash. b
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Expenses . At 60% capacity level
' Rs.
Direct Materiai 1,80,000
Direct Labour 1,20,000
Indirect Material and spares 54,000
Contd.
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Expenses At 60% capacity level
Rs.

Depreciation 72,000

Indirect Labour 42,000

Rent 18,000

Electric Power (30% fixed) 16,000

Repairs and Maintenance 30,000

{40% variable)

Insurance on Machinery 12,000

eIV TS 70% @32 90% Brad G G0 ARSI
qATH Cwdl AT >

(&) meﬁﬁﬁw\sﬁ go{qy Al e

(v) el ffeasls €805 31st December, 2014 TIECY
Z Ltd.-7 7:Fg Sadem ows 34l ¢

Fixed Assets of Net Worth 08:1
Current Ratio ‘ 3:1
Reserve included in Proprietors’ Fund 25%
Fixed Assets Rs. 8,00,000
Cash and Bank balances Rs, 15,000
Current liabilities Rs. 1,50,000
The company has no bank overdraft. b
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